
产品汇总
 应用于起重机和特种车辆的传动系统



	 内容
	 04	 ZF TraXon 
	 06	 ZF TraXonTorque 
	 08	 ZF PowerDivide 
	 09	 ZF AS Tronic mid 
	 10	 ZF CeTrax 
	 11	 ZF PowerLine 
	 12	 ZF EcoLife Offroad



对创新产品和工艺的热忱以及对质量
的不懈追求，使我们成为全球技术领
先的集团公司。不断涌现的先进技术
为我们带来可持续发展的未来，改善
了交通出行，提高了采埃孚产品和系
统的能效，同时注重保护资源。

采埃孚提供一站式系统化解决方案，
包括机械变速箱本体、智能化自动变
速箱系统和整套电动方案。秉承“观
察、 思考、 行动”的理念，我们为特种
车辆市场提供创新的解决方案和思
路。

成就大事!



4

 2

 3

 4

 1 发动机连接，SAE1

换挡模块

变速箱加油和溢位检查

变速箱放油孔

ZF TraXon
自动变速箱系统

型号  [Nm]  [kg]  [ l ] ZF油品表  [mm] SAE

12 TX 2610 SO 最大 2,600  ≈ 254 ≈  12.5 TE-ML 02 最短尺寸 866 SAE 1

12 TX 3420 SO 最大 3,400  ≈ 268 ≈  13.5 TE-ML 02 最短尺寸 898 SAE 1

16 TX 3440 SO 最大 3,400  ≈ 292 ≈  14.5 TE-ML 02 最短尺寸 953 SAE 1

  变速箱型号 输入扭矩 不带附件的重量 初次加油量
不带散热器 油品 等级 安装长度 发动机 

连接

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 R1 R2 R3 R4

特点/功能
▪  重型特种车辆用自动变速箱
▪  PreVision GPS换挡策略
▪  新的软件功能增强舒适性
▪  可选离合器取力器和应急泵

 2

 3  4

 1

SAE 1





 L

各档位标准速比

2610 12.92 9.98 7.69 5.94 4.57 3.53 2.83 2.19 1.68 1.30 1.00 0.77 - - - - 12.03 9.29 2.64 2.04

3420 12.92 9.98 7.69 5.94 4.57 3.53 2.83 2.19 1.68 1.30 1.00 0.77 - - - - 14.14 11.60 3.10 2.54

3440 14.68 12.05 9.92 8.14 6.78 5.56 4.57 3.75 3.22 2.64 2.17 1.78 1.49 1.22 1.0 0.82 14.14 11.60 3.10 2.54



5

 2

 3

 1 发动机连接，SAE1

换挡模块

变速箱加油和溢位检查

ZF TraXon (带缓速器)

自动变速箱系统

型号  [Nm]  [kg]  [ l ] ZF 油品表  [mm] SAE

12 TX 2611 SO 最大 2,600  ≈ 333 ≈  22.5 TE-ML 02 最短尺寸 866 SAE 1

12 TX 3421 SO 最大 3,400 ≈ 359 ≈  23.5 TE-ML 02 最短尺寸 898 SAE 1

16 TX 3441 SO 最大 3,400 ≈ 369 ≈  24.5 TE-ML 02 最短尺寸 953 SAE 1

变速箱型号 输入扭矩 不带附件的重量 初次加油量
不带散热器 油品 等级 安装长度 发动机 

连接

特点/功能
▪  重型特种车辆用自动变速箱
▪  PreVision GPS换挡策略
▪  新的软件功能增强舒适性
▪  可选离合器取力器和应急泵
▪  ZF缓速器制动扭矩/功率达4,000 Nm/600 kW，作为变速箱无磨损辅助制动

 2

 3

 1

 5 4

SAE 1





 
L (engine connection  

2611 12.92 9.98 7.69 5.94 4.57 3.53 2.83 2.19 1.68 1.30 1.00 0.77 - - - - 12.03 9.29 2.64 2.04

3421 12.92 9.98 7.69 5.94 4.57 3.53 2.83 2.19 1.68 1.30 1.00 0.77 - - - - 14.14 11.60 3.10 2.54

3441 14.68 12.05 9.92 8.14 6.78 5.56 4.57 3.75 3.22 2.64 2.17 1.78 1.49 1.22 1.0 0.82 14.14 11.60 3.10 2.54

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 R1 R2 R3 R4

各档位标准速比

 5

 4 变速箱放油孔

缓速器



 2

 3

 1

 5

 4发动机连接

变扭器加油管

换挡模块

变速箱加油和溢位检查

变速箱放油孔

变扭器放油孔（TCC）

ZF TraXon Torque
自动变速箱系统

各档位标准速比

3020 12.92 9.98 7.69 5.94 4.57 3.53 2.83 2.19 1.68 1.30 1.00 0.77 12.03 9.29 2.64 2.04

1 2 3 4 5 6 7 8 9 10 11 12 R1 R2 R3 R4

特点/功能
▪  TraXon系统与前置变矩器离合器(TCC)的结合
▪  特殊应用和重型货物运输车辆用的自动变速箱系统
▪  变矩器在车辆行驶期间闭锁，这样功率没有损失
▪  缓速器和TraXon Torque模块共用控制单元
▪  离合器打滑控制和离合器保护装置
▪  可选离合器取力器和应急泵
▪  PreVision GPS换挡策略

型号  [Nm]  [kg]  [ l ] ZF 油品表 [mm] SAE

12 TT 3020 SO 最大 3,000  ≈ 507 TCC: ≈ 26 
变速箱: ≈ 13.5 TE-ML 02 1.59 1,272 SAE 1

      变速箱型号 输入扭矩 不带附件的
重量

初次加油量
不带散热器 油品 等级 变扭器 安装长度 发动机

连接

6

 6

 1

 2  3

 4 5  6 6

SAE 1





 L (1.272 mm)



 2

 3

 1

 6

 5

发动机连接

变扭器加油管

换挡模块

变速箱加油和溢位检查

变速箱放油孔

变扭器放油孔(TCC)

ZF TraXon Torque ( 带缓速器）

自动变速箱系统

3021 12.92 9.98 7.69 5.94 4.57 3.53 2.83 2.19 1.68 1.30 1.00 0.77 12.03 9.29 2.64 2.04

1 2 3 4 5 6 7 8 9 10 11 12 R1 R2 R3 R4

特点/功能
▪  系统与前置变矩器离合器(TCC)的结合
▪  TraXon特殊应用和重型货物运输车辆用的自动变速箱系统
▪  变矩器在车辆行驶期间闭锁，这样功率没有损失
▪  缓速器和TraXon Torque模块共用控制单元
▪  离合器打滑控制和离合器保护装置
▪  可选离合器取力器和应急泵
▪  PreVision GPS换挡策略
▪  ZF缓速器制动扭矩/功率达4,000 Nm/600 kW,作为变速箱无磨损辅助制动

 4

各档位标准速比

7

型号  [Nm]  [kg]  [ l ] ZF 油品表 [mm] SAE

12 TT 3021 SO 最大  3,000  ≈ 580
TCC: ≈ 26 

变速箱: ≈ 23.5 TE-ML 02 1.59 最短尺寸 1,272 SAE 1

 变速箱型号 输入扭矩 不带附件的
重量

初次加油量
不带散热器

油品 等
级 变扭器 安装长度 发动机

连接

 2  3

 1  4  5 6 6

SAE 1




 L



型号 安装位置 取力器功率 变速箱功率 输出扭矩 旋转方向 质量 
（带减振器）

允许最高
温度 油容量 油品 等级 增速比

型号  o‘clock [kW] [kW] [Nm] [kg] [°C] [ l ] ZF 油品表

NMV 1600 L1 12 251 625 1,600 与发动机
一样 约 168 最高 110 约 4.7 TE-ML 02 1.54

NMV 2000 L1 12 314 625 2,000 与发动机
一样 约 168 最高 110 约 4.7 TE-ML 02 1.21

NMV 2003 L1 3 314 625 2,000 与发动机
一样 约 168 最高 110 约 4.7 TE-ML 02 1.21

特点/功能
▪  全功率取力器用于需要辅助功率强大的应用，例如混凝土泵、汽车起重机、消防车及其它更多应用
▪  像“三明治”一样安装在发动机输出和变速箱之间（SAE接口）
▪  变速箱输出端628 kW / 3,000 Nm 

▪  多片离合器接合系统

ZF PowerDivide 
全功率取力器

NMV 1600 L1
NMV 2000 L1
NMV 2003 L1

     SAE 1

L

8



  * 包含离合器模块和离合器分离部件

ZF AS Tronic mid
自动变速箱系统

特点/功能
▪  特种车辆应用的自动变速箱
▪  匹配扭矩达1,600Nm的发动机
▪  可在手动和自动换挡系统间切换
▪  不需要额外的冷却系统
▪  可选离合器取力器和应急泵  

10.37 8.43 6.49 5.27 4.18 3.40 2.48 2.02 1.55 1.26 1.00 0.81 10.56 8.58

1 2 3 4 5 6 7 8 9 10 11 12 R1 R2

安装尺寸

 2

 3

 5

 4

 1

 7

 6

 8

通气孔

电气连接

换挡模块

压缩空气接口

 9

11

10

输出端

速度传感器

可选： 散热器

加油和溢位检查

放油孔

离合器模块

输入端

12 AS 1210 SO
12 AS 1620 SO

210 mm

2
0
 m

m

2
7
1
 m

m
2
7
8
 m

m

307 mm

1 2 3 4

58 791011

840 mm (900 mm)*

S
A

E
 1

 o
d

er
S

A
E
 2

314 mm

612

12 AS 1210 SO (12AS 1620 SO)*

10
.5

7“
   

   
   

   
   

   
   

   
   

10
.8

4“

0.
78

“

SA
E 

1 
or

 
SA

E 
2

各档位速比

型号  [Nm]  [kg]  [ l ] ZF 油品表  SAE

12 AS 1210 SO 最大 1,200  ≈ 193 ≈ 7.8 TE-ML 02 SAE 1 或 SAE 2

12 AS 1620 SO 最大 1,600  ≈ 211 ≈ 9.3 TE-ML 02 SAE 1 或 SAE 2

   变速箱型号 输入扭矩 重量 * 油容量 油品 等级 发动机连接

9



牵引电机

电机技术 性能（峰值/30min）* 调速电机 传动机构***
电机，1挡

输出扭矩（峰
值/30min）*

[kW] [rpm] i = [Nm]

3相异步电机 300 / 200 8,500 3.36 4,500 / 2,170

[V] [Arms] max. [kg] [kg] ECU

ACH65L50 650 500 / 375 90,000 285 EST 54 IP69K

版本 额定直流电压 交流电（p/c）** 车辆总重 重量 控制单元 保护等级

ZF CeTrax
中央电驱

逆变器 ACH65L50                         系统

*     峰值/30分钟
**   峰值/连续
*** 集成传动机构

特点/功能
▪集成行星齿轮电机马达
▪ 已在采埃孚EcoLife变速箱经过验证和测试的行星齿轮和EST 54控制单元
▪作为装配电机的采埃孚系统和带有EST 54电控单元的逆变器的最佳性能
▪ 专为严苛的物流应用开发
▪内置水/油冷系统
▪源自单一电源的常规和电气系统

 2
x 

22
 

0,
15

 

 0
 

 1
48

,7
 

 4
86

,7
 

 1
17

,5
 

 4
55

,5
 

4x M10 internal thread
Screw engagement 16-25mm
Tightening torque: 4 Nm 20%

 0
 

2x
 3

13

 0 

2x 322

0,6 A

B4x LD

M10 internal thread
Protective earth
Screw engagement 16-25mm
Tightening torque 45Nm 20%

Hose nipple 22
Coolant in

 0 
20,1

121,3

 0
 

17
6,

25

1 A B-B
5 A B-B

A Hose nipple 22
Coolant out

 0 
20,1

 0
 

52
,2

5

5 A B-B

 635,3 

573
36

1,
5

5x M8 internal thread
Screw engagement 12-18mm
Tightening torqe 23Nm 20%

 0
 

5x
 3

5,
5

 0 

52,25

114,25

176,25

248,75

294,75

 341,75 

 19,75 

5 A B-B

Drawing notes:
3D-CAD model is made nominal.1.
General for whole part 10 A B-B.2.

Rev Change note (from PDMW) Changed Date

03 Released. CON 2017-10-16x A2

E

D

32 4

C

B

2 3 4

5 6 7

E

D

5 6

C

B

71

1 8

8

9

9

10

10

11

11

A A

F F

G

H H

12

12

to
 o

th
er

s o
r o

th
er

w
ise

 u
na

ut
ho

riz
ed

ly
 u

se
d.

 In
m

ot
io

n
Th

is 
do

cu
m

en
t m

us
t n

ot
 b

e 
co

pi
ed

 w
ith

ou
t o

ur
 c

on
se

nt
, n

or
 m

us
t i

ts
 c

on
te

nt
s b

e 
m

ad
e 

kn
ow

n

G

Document No. Rev

Description

Initial DesignerStatus

Page No.

   

1(1)

Projection View

Weight General Tolerance General Roughness

Surface Treatment:

Units

mmreleased 25 ± 1 kg

Material:

03

CON

Standard ACH L

-

Fil
e:

 M
C

00
15

74
A

Ra: 

MC001631A

D
rw

 re
v:

 1

逆变器 ACH65L50                         

10



ZF PowerLine 发动机最大扭矩 比率差 发动机扭矩
容量 长度”L” 重量 发动机连接 力矩重量比

版本 [Nm] [Nm] [mm] [kg] SAE

8 AP 1200 S 1,200* 7.6 1,200* 768 149 SAE 2 9.4

速比 4.89 3.12 2.03 1.64 1.25 1.00 0.84 0.4 -4.25

* 更高扭矩需求

标准机械速比

挡位   1 2 3 4 5 6 7 8 R

特点/功能
▪   8挡自动换挡变速箱 
▪   基准力矩重量比：8 Nm/kg

▪  一流的燃油效率得益于采用8HP齿轮组概念。节省燃油高达10%

▪   车载变速箱控制单元
▪   两个取力器接口，最大650Nm，100KW。在使用一个取力器时：650Nm，在同时使用两个取力器时：每个350Nm

▪   卓越的驾驶体验和舒适性
▪   用于直接安装分动箱的可选接口

ZF PowerLine
8 挡自动换挡变速箱

100

  0

 10

 20

 30

 40

 50

 60

 70

 80

 90

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

A

B

C

D

E

F

G

H

J

K

L

M

N

P

Q

R

A

B

C

D

E

F

G

H

J

K

L

abgeleitet von: 1390_600_002_INS001  [ ASSEM]

Funkt. Norm Fertig. Verz.

Rohteilnummer

Dat.

Dok.vers.Aend.Nr.

Technische Information

Benennung

Aehnl.Dokum.Nr.

Blatt

Mass-Stab

Bearb. Konstr.
kg

Materialnummer

Dokumentnummer

Masse

Aend.Datum

Name

von

Name

Dieses Dokument darf weder kopiert
noch dritten Personen ohne unsere
Erlaubnis mitgeteilt werden.
Diese Konstruktion ist unser Eigentum.

ZF Friedrichshafen AG

Sheet

Mass

Doc.vers.Gearing

Casting/forging No.

Technical information

Description

Drawn Design Stand. Prod. Mod.No. Similar docu. no.

Document number

Funct.

ScaleItem number

Mod.date

of

Name

This document may not be copied
or disclosed to third persons
without permission of ZF.
We are the owner of this design.

zf_einfach_v5

- - - - - - - --- - -

F28517 --- - --- --- --- - --- - - -

---

---
--- --- 1 1

--- 2:5
EINBAUZEICHNUNG
INSTALLATION DRAWING 1390_600_002_INS002 A0

SAE 2




  L

11



ZF EcoLife Offroad 
（可选取力器）

发动机最大
扭矩

最大涡轮扭矩 前
进档 

(倒档/倒档 )
最大缓速器

制动扭矩 
安装长度

（预留取力器接）
重量不含油冷器

无油 
(可选取力器)

变矩比

带侧装油冷器

速比 7 AP xxxx E (EP) 5.6 3.36 2.04 1.47 1.0 0.67 0.56 3.36 9.05 10

发动机最大转速 [rpm] 2,600 2,600 2,600 2,600 2,600 2,600 2,300 2,600 2,600 -

各档位速比

档位及速比   1 2 3 4 5 6 7 R RCr Phi

特点/功能
▪  高传动效率，高变速箱传动功率/重量比
▪  专为各种应用及特殊任务设计的换挡程序（在操作时可以选择）
▪  双冷却系统，包含集成式油冷却器和单独的缓速器油冷却器
▪  允许较高的冷却液温度至105°C

▪  可选装两个扭矩达1000Nm的取力器

2345678

M

L

K

J

H

G

F

E

910111213141516

M

L

K

J

H

G

F

E

D

C

B

A

16 15 14 13 12 11 10 9 8 7 456

100

  0

 10

 20

 30

 40

 50

 60

 70

 80

 90

1

abgeleitet von: 4255_602_001_INS001 [ASSEM]

Funkt. Norm Fertig. Verz.

Rohteilnummer

Dat.

Dok.vers.Aend.Nr.

Technische Information

Benennung

Aehnl.Dokum.Nr.

Blatt

Mass-Stab

Bearb. Konstr.
kg

DIN

Materialnummer

Dokumentnummer

Masse

CAD-SystemAend.Datum

Name

von

Name

Dieses Dokument darf weder kopiert
noch dritten Personen ohne unsere
Erlaubnis mitgeteilt werden.
Diese Konstruktion ist unser Eigentum.

ZF Friedrichshafen AG

Sheet

Mass

Doc.vers.Gearing

Casting/forging No.

Technical information

Description

Drawn Design Stand. Prod. Mod.No. Similar docu. no.

Document number

Funct.

ScaleItem number

Mod.date

of

Name

This document may not be copied
or disclosed to third persons
without permission of ZF.
We are the owner of this design.

CAD system

0

( )148

(
)

66
3

(
)

35
5

0

( )234.5

(
)

77
9

0

(
)

87

53
0

0.
2

( )275

(
)

16

( )362

 X

 Y

( )276.5

233 0.2

(
)

99 (
)

57
1.

5

zf_einfach_v4

16-06-14 16-06-14 - - - - - --- - -

F94228 Z108474 - --- --- --- - --- - - -

--- PRO/E

ECOLIFE S  STANDARD
--- --- 1 3

--- 2:5
AUTOMATGETRIEBE
AUTOMATIC TRANSMISSION 4255_602_001_INS001 A0

11
MESSSTELLE PHD (HAUPTDRUCK)
M10x1;  12 MIN TIEF
MEASURING POINT PHD (PRIMARY PRESSURE)
M10x1;  12 MIN DEEP
 
 
 
 
 

12

TYPENSCHILD GETRIEBE; POSITION WAHLWEISE A/B/C
DATEN: GETRIEBETYP,STUECKLISTEN-NR.,SERIAL-NR.,
KUNDEN-BESTELLNR.,UEBERSETZUNGSBEREICH, TACHO-
METERUEBERSETZUNG (IMPULS/UMDREHUNG), OELMENGE,
ZF-SCHMIERSTOFFBEZEICHNUNG
TYPE PLATE GEARBOX; ALTERNATIV POSITION A/B/C
DATA: GEARBOX TYPE,PARTS LIST NO.,SERIAL NO.
CUSTOMER ORDER NO.,RATIO RANGE, SPEEDOMETER RATIO
(PULSE/REV.); OIL QUANTITY, ZF LIST OF LUBRICANTS 
DESIGNATION
 
 
 
 
 
 

13

TYPENSCHILD STEUERGERAET
DATEN: SACHNUMMER, SERIALNUMMER, KUNDEN-BESTELLNUMMER,
BETRIEBSSPANNUNG, E1-NUMMER
TYPE PLATE CONTROL UNIT 
DATA: MATERIAL NO.,SERIAL NO.,CUSTOMER ORDER NO.,
RATED VOLTAGE, E1-NUMBER

14
BOHRUNG FUER PLOMBENDRAHT TACHOANSCHLUSS AN IMPULSGEBER
HOLE FOR LEAD SEAL WIRE SPEEDO CONNECTION TO PULSE SENSOR

20a OELABLASSCHRAUBE SW10 (INNENSECHSKANT) (Ta=50 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 10 (INTERNAL HEXAGON)

20b OELABLASSCHRAUBE SW6 (INNENSECHSKANT) (Ta=35 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 6 (INTERNAL HEXAGON)

21

M8   22 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
BEI 21  GESTATTET
M8   22 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS ONLY ALLOWED 
AT 21

22

M8   19 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
NACH ABSTIMMUNG MIT ZF GESTATTET
M8   19 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS  PERMITTED ONLY 
AFTER CONSULTION WITH ZF
 28 OELEINFUELLROHR
BEFESTIGUNG VON ANBAUTEILEN NUR BEI 21 GESTATTET
OIL FILLER TUBE
FIXING OF ADD-ON PARTS ONLY ALLOWED AT 21
 
 
 
 
 
 
 
 

29 DREHRICHTUNG DES ABTRIEBSFLANSCHES BEI VORWAERTSFAHRT
SENSE OF ROTATION OF OUTPUT FLANGE DRIVING FORWARD

33
AUSBAURAUM FUER OELFILTER
REMOVING SPACE FOR OIL FILTER

35 AUSBAUHOEHE FUER OELWANNE
REMOVING SPACE FOR OIL SUMP

37 ENTLUEFTER
BREATHER

38 ENTLUEFTER ECU
BREATHER ECU 

A8
DRUCKMESSSTELLE A8 (WANDLER-GEGENDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT A8 (TORQUE CONVERTER 
BACK PRESSURE)
M10x1;  12 MIN DEEP 

D6
DRUCKMESSSTELLE D6 (NACH RETARDER-OELKUEHLER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D6 (DOWNSTREAM OF RETARDER 
OIL COOLER)
M10x1;  12 MIN DEEP 

D8
DRUCKMESSSTELLE D8 (SCHMIERDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D8 (LUBRICATING PRESSURE)
M10x1;  12 MIN DEEP 
 

OE
OELEINFUELLUNG
OIL FILLING

OM
OELMESSSTAB-FUEHRUNGSROHR
OIL DIPSTICK TUBE

S
SCHWERPUNKT (MIT OEL)
CENTER OF GRAVITY (WITH OIL)

T

GEWINDEBOHRUNG FUER IMPULSGEBER M18x1.5, 
ANZUGSMOMENT 45 NM. FUER TRANSPORT MIT 
VERSCHLUSSSCHRAUBE VERSCHLOSSEN
THREADED BORE FOR PULSE SENSOR M18x1.5, 
TIGHTENING TORQUE 45 NM. FOR TRANSPORT CLOSED 
WITH THREADED PLUG

1

STEUERGERAET
ELEKTRISCHE ANSCHLUESSE NACH SPEZIFIKATION 6070 703 002
ZULAESSIGE UMGEBUNGSLUFTTEMPERATUR: 100°C
ZULAESSIGE OBERFLAECHENTEMPERATUR:105°C
SCHUTZART
         -MIT AUFGESTECKTEM KABEL: IP69K
         -OHNE KABEL: TBD (VOR VERSCHMUTZUNG SCHUETZEN)
CONTROL UNIT
ELECTRICAL TERMINALS ACC. TO SPECIFICATION 6070 703 002
PERMITTED AMBIENT AIR TEMPERATURE: 100°C
PERMITTED SURFACE TEMPERATURE: 105°C
PROTECTION CLASS
         -WITH CABLE PLUGGED IN: IP69K
         -WITHOUT CABLE: TBD (PROTECT AGAINST FOULING)
 
 
 
 
 

2
KABELANSCHLUSS. FUER TRANSPORT MIT SCHUTZKAPPE VERSEHEN
CABLE CONNECTION: FOR TRANSPORT EQUIPPED WITH 
PROTECTIVE COVER
 

3
TRANSPORTAUFHAENGUNG M16x1.5; 22 MIN TIEF
ANZUGSDREHMOMENT 225 Nm MAX
LIFTING GEAR THREAD M16x1.5; 22 MIN DEEP
TIGHTENING TOWQUE 225 Nm MAX

4
GETRIEBEAUFHAENGUNG M16x1.5;  22 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
GEARBOX SUSPENSION M16x1.5;  22 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
 
 
 
 
 
 

5

GETRIEBEAUFHAENGUNG M20x1.5;  24 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
NUR NACH ABSTIMMUNG MIT ZF GESTATTET
GEARBOX SUSPENSION M20x1.5;  24 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
PERMITTED ONLY AFTER CONSULTION WITH ZF
 
 
 
 
 6

KUEHLMITTELANSCHLUSS ZUM OELKUEHLER
STUTZEN DIN 3021 - B 60 
COOLANT CONNECTION TO OIL COOLER
SPIGOT DIN 3012 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

7

KUEHLMITTELANSCHLUSS VOM OELKUEHLER
STUTZEN DIN 3021 - B 60
COOLANT CONNECTION FROM OIL COOLER
SPIGOT DIN 3021 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

8
DRUCKMESSSTELLE PVF (VOR FILTER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT PVF (AHEAD OF FILTER)
M10x1;  12 MIN DEEP 
 

GETRIEBE IST MIT OEL BEFUELLT
GEARBOX IS FILLED WITH OIL
 
OELSORTE: ZF ECOFLUID LIFE PLUS    OELMENGE: 54 L
OILTYPE: ZF ECOFLUID LIFE PLUS     OIL VOLUME: 54 L

Technisches Handbuch 4255 765 001 beachten
Observe technical manual 4255 765 001

Modell vereinfacht dargestellt.
Fuer nicht dargestellte und bemasste Gewinde
behaelt sich die ZF Aenderungen sowie
Entfall ohne Kundenruecksprache vor.
Representation of model simplified.
Not shown or dimensioned threads
are subject to change without notice
of ZF or omited without
discussion to customer.

Masse ohne Toleranzangaben oder (...) dienen nur zur Information.
Untoleranced dimensions or (...) are for information only.

13 1
2 12/B

21

3

38

OE

OM

37

S 03

01

带取力器和后置油冷器

ZF EcoLife Offroad
7档自动换挡变速箱

型号 [Nm] [Nm] [Nm] [mm] [kg]

7 AP 2600 E (EP) 2,600 3,850 - 1,900 871.1 (901.1) 456 (493) 1.95 ... 2.29

7 AP 2100 E (EP) 2,100 3,500 - 1,900 871.1 (901.1) 454 (491) 1.95 ... 2.29

7 AP 1900 E (EP) 1,900 3,130 - 1,900 871.1 (901.1) 452 (489) 1.95 ... 2.29

7 AP 1600 E (EP) 1,600 2,500 - 1,900 871.1 (901.1) 450 (487) 1.95 ... 2.29

12

SAE 1





 L

2345678

M

L

K

J

H

G

F

E

910111213141516

M

L

K

J

H

G

F

E

D

C

B

A

16 15 14 13 12 11 10 9 8 7 456

100

  0

 10

 20

 30

 40

 50

 60

 70

 80

 90

1

abgeleitet von: 4255_602_002_INS001 [ASSEM]

Funkt. Norm Fertig. Verz.

Rohteilnummer

Dat.

Dok.vers.Aend.Nr.

Technische Information

Benennung

Aehnl.Dokum.Nr.

Blatt

Mass-Stab

Bearb. Konstr.
kg

DIN

Materialnummer

Dokumentnummer

Masse

CAD-SystemAend.Datum

Name

von

Name

Dieses Dokument darf weder kopiert
noch dritten Personen ohne unsere
Erlaubnis mitgeteilt werden.
Diese Konstruktion ist unser Eigentum.

ZF Friedrichshafen AG

Sheet

Mass

Doc.vers.Gearing

Casting/forging No.

Technical information

Description

Drawn Design Stand. Prod. Mod.No. Similar docu. no.

Document number

Funct.

ScaleItem number

Mod.date

of

Name

This document may not be copied
or disclosed to third persons
without permission of ZF.
We are the owner of this design.

CAD system

255 0.25

255 0.25

(2
00

)

(
)

56
0

( )184

( )160

9.7°

(
)

10
95

.8

(
)

98
0.

6
(

)
99

8.
8

56
0

0.
2

0

0

23
3±

0.
2

0

( )276.5

60
1.

5
0.

4

20
2.

4
0.

4

0

(
)

10
8.

4

( )275

( )290

(
)

16

M
12

x1
.5

 (1
0x

)

 Y

20

22

7.1+0.7
-0.8

48
2 

h7

48
2

+0
.5

  

50
 e

8

30°
3+0.5

  

4.5±0.8

25+0.4
-1.8

27

R0.
8

40
8 

h7

11
MESSSTELLE PHD (HAUPTDRUCK)
M10x1;  12 MIN TIEF
MEASURING POINT PHD (PRIMARY PRESSURE)
M10x1;  12 MIN DEEP
 
 
 
 
 

12

TYPENSCHILD GETRIEBE; POSITION WAHLWEISE A/B/C
DATEN: GETRIEBETYP,STUECKLISTEN-NR.,SERIAL-NR.,
KUNDEN-BESTELLNR.,UEBERSETZUNGSBEREICH, TACHO-
METERUEBERSETZUNG (IMPULS/UMDREHUNG), OELMENGE,
ZF-SCHMIERSTOFFBEZEICHNUNG
TYPE PLATE GEARBOX; ALTERNATIV POSITION A/B/C
DATA: GEARBOX TYPE,PARTS LIST NO.,SERIAL NO.
CUSTOMER ORDER NO.,RATIO RANGE, SPEEDOMETER RATIO
(PULSE/REV.); OIL QUANTITY, ZF LIST OF LUBRICANTS 
DESIGNATION
 
 
 
 
 
 

13

TYPENSCHILD STEUERGERAET
DATEN: SACHNUMMER, SERIALNUMMER, KUNDEN-BESTELLNUMMER,
BETRIEBSSPANNUNG, E1-NUMMER
TYPE PLATE CONTROL UNIT 
DATA: MATERIAL NO.,SERIAL NO.,CUSTOMER ORDER NO.,
RATED VOLTAGE, E1-NUMBER

14
BOHRUNG FUER PLOMBENDRAHT TACHOANSCHLUSS AN IMPULSGEBER
HOLE FOR LEAD SEAL WIRE SPEEDO CONNECTION TO PULSE SENSOR

20a OELABLASSCHRAUBE SW10 (INNENSECHSKANT) (Ta=50 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 10 (INTERNAL HEXAGON)

20b OELABLASSCHRAUBE SW6 (INNENSECHSKANT) (Ta=35 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 6 (INTERNAL HEXAGON)

21

M8   22 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
BEI 21  GESTATTET
M8   22 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS ONLY ALLOWED 
AT 21

22

M8   19 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
NACH ABSTIMMUNG MIT ZF GESTATTET
M8   19 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS  PERMITTED ONLY 
AFTER CONSULTION WITH ZF
 28 OELEINFUELLROHR
BEFESTIGUNG VON ANBAUTEILEN NUR BEI 21 GESTATTET
OIL FILLER TUBE
FIXING OF ADD-ON PARTS ONLY ALLOWED AT 21
 
 
 
 
 
 
 
 

29 DREHRICHTUNG DES ABTRIEBSFLANSCHES BEI VORWAERTSFAHRT
SENSE OF ROTATION OF OUTPUT FLANGE DRIVING FORWARD

33
AUSBAURAUM FUER OELFILTER
REMOVING SPACE FOR OIL FILTER

35 AUSBAUHOEHE FUER OELWANNE
REMOVING SPACE FOR OIL SUMP

37 ENTLUEFTER
BREATHER

A8
DRUCKMESSSTELLE A8 (WANDLER-GEGENDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT A8 (TORQUE CONVERTER 
BACK PRESSURE)
M10x1;  12 MIN DEEP 

D6
DRUCKMESSSTELLE D6 (NACH RETARDER-OELKUEHLER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D6 (DOWNSTREAM OF RETARDER 
OIL COOLER)
M10x1;  12 MIN DEEP 

D8
DRUCKMESSSTELLE D8 (SCHMIERDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D8 (LUBRICATING PRESSURE)
M10x1;  12 MIN DEEP 
 

OE
OELEINFUELLUNG
OIL FILLING

OM
OELMESSSTAB-FUEHRUNGSROHR
OIL DIPSTICK TUBE

S
SCHWERPUNKT (MIT OEL)
CENTER OF GRAVITY (WITH OIL)

T

GEWINDEBOHRUNG FUER IMPULSGEBER M18x1.5, 
ANZUGSMOMENT 45 NM. FUER TRANSPORT MIT 
VERSCHLUSSSCHRAUBE VERSCHLOSSEN
THREADED BORE FOR PULSE SENSOR M18x1.5, 
TIGHTENING TORQUE 45 NM. FOR TRANSPORT CLOSED 
WITH THREADED PLUG

1

STEUERGERAET
ELEKTRISCHE ANSCHLUESSE NACH SPEZIFIKATION 6070 703 002
ZULAESSIGE UMGEBUNGSLUFTTEMPERATUR: 100°C
ZULAESSIGE OBERFLAECHENTEMPERATUR:105°C
SCHUTZART
         -MIT AUFGESTECKTEM KABEL: IP69K
         -OHNE KABEL: TBD (VOR VERSCHMUTZUNG SCHUETZEN)
CONTROL UNIT
ELECTRICAL TERMINALS ACC. TO SPECIFICATION 6070 703 002
PERMITTED AMBIENT AIR TEMPERATURE: 100°C
PERMITTED SURFACE TEMPERATURE: 105°C
PROTECTION CLASS
         -WITH CABLE PLUGGED IN: IP69K
         -WITHOUT CABLE: TBD (PROTECT AGAINST FOULING)
 
 
 
 
 

2
KABELANSCHLUSS. FUER TRANSPORT MIT SCHUTZKAPPE VERSEHEN
CABLE CONNECTION: FOR TRANSPORT EQUIPPED WITH 
PROTECTIVE COVER
 

3
TRANSPORTAUFHAENGUNG M16x1.5; 24 MIN TIEF
ANZUGSDREHMOMENT 225 Nm MAX
LIFTING GEAR THREAD M16x1.5; 24 MIN DEEP
TIGHTENING TOWQUE 225 Nm MAX

4
GETRIEBEAUFHAENGUNG M16x1.5;  24 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
GEARBOX SUSPENSION M16x1.5;  24 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
 
 
 
 
 
 

5

GETRIEBEAUFHAENGUNG M20x1.5;  25 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
NUR NACH ABSTIMMUNG MIT ZF GESTATTET
GEARBOX SUSPENSION M20x1.5;  25 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
PERMITTED ONLY AFTER CONSULTION WITH ZF
 
 
 
 
 6

KUEHLMITTELANSCHLUSS ZUM OELKUEHLER
STUTZEN DIN 3021 - B 60 
COOLANT CONNECTION TO OIL COOLER
SPIGOT DIN 3012 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

7

KUEHLMITTELANSCHLUSS VOM OELKUEHLER
STUTZEN DIN 3021 - B 60
COOLANT CONNECTION FROM OIL COOLER
SPIGOT DIN 3021 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

8
DRUCKMESSSTELLE PVF (VOR FILTER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT PVF (AHEAD OF FILTER)
M10x1;  12 MIN DEEP 
 zf_einfach_v4

16-04-04 - - - - - - - - -

NUDING - - --- --- --- - - - - -

--- PRO/E

ECOLIFE S PTO
ECOLIFE S PTO --- 1 3

4238.088.002 2:5
AUTOMATGETRIEBE
AUTOMATIC TRANSMISSION 4255_602_002_INS001 A0

GETRIEBE IST MIT OEL BEFUELLT
GEARBOX IS FILLED WITH OIL
 
OELSORTE: ZF ECOFLUID LIFE    OELMENGE: 49 L
OILTYPE: ZF ECOFLUID LIFE     OIL VOLUME: 49 L

Modell vereinfacht dargestellt
Fuer nicht dargestellte Gussaugen und
unbemasste Gewinde behaelt sich die ZF Aenderungen
sowie Entfall ohne Kundenruecksprache vor.
Representation of model simplified.
Not shown mounting pads or undimensioned threads
are subject to change without notice by ZF
or omitted without discussion to customer.

Masse ohne Toleranzangaben oder (...) dienen nur zur Information.
Untoleranced dimensions or (...) are for information only.

Technisches Handbuch 4255 765 001 beachten
Observe technical manual 4255 765 001

S

13
1 2

12/B
21

37

7

3

6
Kuehlmittelzulauf
Coolant flow forward

Kuehlmittelruecklauf
Coolant flow back

S

01

03
03

01

02
02

SAE 1





 L

2345678

M

L

K

J

H

G

F

E

910111213141516

M

L

K

J

H

G

F

E

D

C

B

A

16 15 14 13 12 11 10 9 8 7 456

100

  0

 10

 20

 30

 40

 50

 60

 70

 80

 90

1

abgeleitet von: 4255_602_002_INS001 [ASSEM]

Funkt. Norm Fertig. Verz.

Rohteilnummer

Dat.

Dok.vers.Aend.Nr.

Technische Information

Benennung

Aehnl.Dokum.Nr.

Blatt

Mass-Stab

Bearb. Konstr.
kg

DIN

Materialnummer

Dokumentnummer

Masse

CAD-SystemAend.Datum

Name

von

Name

Dieses Dokument darf weder kopiert
noch dritten Personen ohne unsere
Erlaubnis mitgeteilt werden.
Diese Konstruktion ist unser Eigentum.

ZF Friedrichshafen AG

Sheet

Mass

Doc.vers.Gearing

Casting/forging No.

Technical information

Description

Drawn Design Stand. Prod. Mod.No. Similar docu. no.

Document number

Funct.

ScaleItem number

Mod.date

of

Name

This document may not be copied
or disclosed to third persons
without permission of ZF.
We are the owner of this design.

CAD system

255 0.25

255 0.25

(2
00

)

(
)

56
0

( )184

( )160

9.7°

(
)

10
95

.8

(
)

98
0.

6
(

)
99

8.
8

56
0

0.
2

0

0

23
3±

0.
2

0

( )276.5

60
1.

5
0.

4

20
2.

4
0.

4

0

(
)

10
8.

4

( )275

( )290

(
)

16

M
12

x1
.5

 (1
0x

)

 Y

20

22

7.1+0.7
-0.8

48
2 

h7

48
2

+0
.5

  

50
 e

8

30°

3+0.5
  

4.5±0.8

25+0.4
-1.8

27

R0.
8

40
8 

h7

11
MESSSTELLE PHD (HAUPTDRUCK)
M10x1;  12 MIN TIEF
MEASURING POINT PHD (PRIMARY PRESSURE)
M10x1;  12 MIN DEEP
 
 
 
 
 

12

TYPENSCHILD GETRIEBE; POSITION WAHLWEISE A/B/C
DATEN: GETRIEBETYP,STUECKLISTEN-NR.,SERIAL-NR.,
KUNDEN-BESTELLNR.,UEBERSETZUNGSBEREICH, TACHO-
METERUEBERSETZUNG (IMPULS/UMDREHUNG), OELMENGE,
ZF-SCHMIERSTOFFBEZEICHNUNG
TYPE PLATE GEARBOX; ALTERNATIV POSITION A/B/C
DATA: GEARBOX TYPE,PARTS LIST NO.,SERIAL NO.
CUSTOMER ORDER NO.,RATIO RANGE, SPEEDOMETER RATIO
(PULSE/REV.); OIL QUANTITY, ZF LIST OF LUBRICANTS 
DESIGNATION
 
 
 
 
 
 

13

TYPENSCHILD STEUERGERAET
DATEN: SACHNUMMER, SERIALNUMMER, KUNDEN-BESTELLNUMMER,
BETRIEBSSPANNUNG, E1-NUMMER
TYPE PLATE CONTROL UNIT 
DATA: MATERIAL NO.,SERIAL NO.,CUSTOMER ORDER NO.,
RATED VOLTAGE, E1-NUMBER

14
BOHRUNG FUER PLOMBENDRAHT TACHOANSCHLUSS AN IMPULSGEBER
HOLE FOR LEAD SEAL WIRE SPEEDO CONNECTION TO PULSE SENSOR

20a OELABLASSCHRAUBE SW10 (INNENSECHSKANT) (Ta=50 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 10 (INTERNAL HEXAGON)

20b OELABLASSCHRAUBE SW6 (INNENSECHSKANT) (Ta=35 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 6 (INTERNAL HEXAGON)

21

M8   22 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
BEI 21  GESTATTET
M8   22 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS ONLY ALLOWED 
AT 21

22

M8   19 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
NACH ABSTIMMUNG MIT ZF GESTATTET
M8   19 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS  PERMITTED ONLY 
AFTER CONSULTION WITH ZF
 28 OELEINFUELLROHR
BEFESTIGUNG VON ANBAUTEILEN NUR BEI 21 GESTATTET
OIL FILLER TUBE
FIXING OF ADD-ON PARTS ONLY ALLOWED AT 21
 
 
 
 
 
 
 
 

29 DREHRICHTUNG DES ABTRIEBSFLANSCHES BEI VORWAERTSFAHRT
SENSE OF ROTATION OF OUTPUT FLANGE DRIVING FORWARD

33
AUSBAURAUM FUER OELFILTER
REMOVING SPACE FOR OIL FILTER

35 AUSBAUHOEHE FUER OELWANNE
REMOVING SPACE FOR OIL SUMP

37 ENTLUEFTER
BREATHER

A8
DRUCKMESSSTELLE A8 (WANDLER-GEGENDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT A8 (TORQUE CONVERTER 
BACK PRESSURE)
M10x1;  12 MIN DEEP 

D6
DRUCKMESSSTELLE D6 (NACH RETARDER-OELKUEHLER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D6 (DOWNSTREAM OF RETARDER 
OIL COOLER)
M10x1;  12 MIN DEEP 

D8
DRUCKMESSSTELLE D8 (SCHMIERDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D8 (LUBRICATING PRESSURE)
M10x1;  12 MIN DEEP 
 

OE
OELEINFUELLUNG
OIL FILLING

OM
OELMESSSTAB-FUEHRUNGSROHR
OIL DIPSTICK TUBE

S
SCHWERPUNKT (MIT OEL)
CENTER OF GRAVITY (WITH OIL)

T

GEWINDEBOHRUNG FUER IMPULSGEBER M18x1.5, 
ANZUGSMOMENT 45 NM. FUER TRANSPORT MIT 
VERSCHLUSSSCHRAUBE VERSCHLOSSEN
THREADED BORE FOR PULSE SENSOR M18x1.5, 
TIGHTENING TORQUE 45 NM. FOR TRANSPORT CLOSED 
WITH THREADED PLUG

1

STEUERGERAET
ELEKTRISCHE ANSCHLUESSE NACH SPEZIFIKATION 6070 703 002
ZULAESSIGE UMGEBUNGSLUFTTEMPERATUR: 100°C
ZULAESSIGE OBERFLAECHENTEMPERATUR:105°C
SCHUTZART
         -MIT AUFGESTECKTEM KABEL: IP69K
         -OHNE KABEL: TBD (VOR VERSCHMUTZUNG SCHUETZEN)
CONTROL UNIT
ELECTRICAL TERMINALS ACC. TO SPECIFICATION 6070 703 002
PERMITTED AMBIENT AIR TEMPERATURE: 100°C
PERMITTED SURFACE TEMPERATURE: 105°C
PROTECTION CLASS
         -WITH CABLE PLUGGED IN: IP69K
         -WITHOUT CABLE: TBD (PROTECT AGAINST FOULING)
 
 
 
 
 

2
KABELANSCHLUSS. FUER TRANSPORT MIT SCHUTZKAPPE VERSEHEN
CABLE CONNECTION: FOR TRANSPORT EQUIPPED WITH 
PROTECTIVE COVER
 

3
TRANSPORTAUFHAENGUNG M16x1.5; 24 MIN TIEF
ANZUGSDREHMOMENT 225 Nm MAX
LIFTING GEAR THREAD M16x1.5; 24 MIN DEEP
TIGHTENING TOWQUE 225 Nm MAX

4
GETRIEBEAUFHAENGUNG M16x1.5;  24 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
GEARBOX SUSPENSION M16x1.5;  24 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
 
 
 
 
 
 

5

GETRIEBEAUFHAENGUNG M20x1.5;  25 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
NUR NACH ABSTIMMUNG MIT ZF GESTATTET
GEARBOX SUSPENSION M20x1.5;  25 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
PERMITTED ONLY AFTER CONSULTION WITH ZF
 
 
 
 
 6

KUEHLMITTELANSCHLUSS ZUM OELKUEHLER
STUTZEN DIN 3021 - B 60 
COOLANT CONNECTION TO OIL COOLER
SPIGOT DIN 3012 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

7

KUEHLMITTELANSCHLUSS VOM OELKUEHLER
STUTZEN DIN 3021 - B 60
COOLANT CONNECTION FROM OIL COOLER
SPIGOT DIN 3021 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

8
DRUCKMESSSTELLE PVF (VOR FILTER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT PVF (AHEAD OF FILTER)
M10x1;  12 MIN DEEP 
 zf_einfach_v4

16-04-04 - - - - - - - - -

NUDING - - --- --- --- - - - - -

--- PRO/E

ECOLIFE S PTO
ECOLIFE S PTO --- 1 3

4238.088.002 2:5
AUTOMATGETRIEBE
AUTOMATIC TRANSMISSION 4255_602_002_INS001 A0

GETRIEBE IST MIT OEL BEFUELLT
GEARBOX IS FILLED WITH OIL
 
OELSORTE: ZF ECOFLUID LIFE    OELMENGE: 49 L
OILTYPE: ZF ECOFLUID LIFE     OIL VOLUME: 49 L

Modell vereinfacht dargestellt
Fuer nicht dargestellte Gussaugen und
unbemasste Gewinde behaelt sich die ZF Aenderungen
sowie Entfall ohne Kundenruecksprache vor.
Representation of model simplified.
Not shown mounting pads or undimensioned threads
are subject to change without notice by ZF
or omitted without discussion to customer.

Masse ohne Toleranzangaben oder (...) dienen nur zur Information.
Untoleranced dimensions or (...) are for information only.

Technisches Handbuch 4255 765 001 beachten
Observe technical manual 4255 765 001

S

13
1 2

12/B
21

37

7

3

6
Kuehlmittelzulauf
Coolant flow forward

Kuehlmittelruecklauf
Coolant flow back

S

01

03
03

01

02
02



带取力器的紧凑型

速比 6 AP xxxx EK (EPK) 3.36 2.04 1.47 1.0 0.67 0.56 3.36 6.0

发动机最大转速[rpm] 2,600 2,600 2,600 2,600 2,600 2,300 2,600 -

各档位速比

档位及速比   1 2 3 4 5 6 R Phi

特点/功能
▪  高传动效率，高变速箱传动功率/重量比
▪  专为各种应用及特殊任务设计的换挡程序（在操作时可以选择）
▪  双冷却系统，包含集成式油冷却器和单独的缓速器油冷却器
▪  允许较高的冷却液温度至105°C

▪  可选装两个扭矩达1000Nm的取力器

ZF EcoLife Offroad
6档自动动力换挡变速箱

13

2345678

M

L

K

J

H

G

F

E

910111213141516

M

L

K

J

H

G

F

E

D

C

B

A

16 15 14 13 12 11 10 9 8 7 456

100

  0

 10

 20

 30

 40

 50

 60

 70

 80

 90

1

abgeleitet von: 4255_602_002_INS001 [ASSEM]

Funkt. Norm Fertig. Verz.

Rohteilnummer

Dat.

Dok.vers.Aend.Nr.

Technische Information

Benennung

Aehnl.Dokum.Nr.

Blatt

Mass-Stab

Bearb. Konstr.
kg

DIN

Materialnummer

Dokumentnummer

Masse

CAD-SystemAend.Datum

Name

von

Name

Dieses Dokument darf weder kopiert
noch dritten Personen ohne unsere
Erlaubnis mitgeteilt werden.
Diese Konstruktion ist unser Eigentum.

ZF Friedrichshafen AG

Sheet

Mass

Doc.vers.Gearing

Casting/forging No.

Technical information

Description

Drawn Design Stand. Prod. Mod.No. Similar docu. no.

Document number

Funct.

ScaleItem number

Mod.date

of

Name

This document may not be copied
or disclosed to third persons
without permission of ZF.
We are the owner of this design.

CAD system

255 0.25

255 0.25

(2
00

)

(
)

56
0

( )184

( )160

9.7°

(
)

10
95

.8

(
)

98
0.

6
(

)
99

8.
8

56
0

0.
2

0

0

23
3±

0.
2

0

( )276.5

60
1.

5
0.

4

20
2.

4
0.

4

0

(
)

10
8.

4

( )275

( )290

(
)

16

M
12

x1
.5

 (1
0x

)

 Y

20

22

7.1+0.7
-0.8

48
2 

h7

48
2

+0
.5

  

50
 e

8

30°

3+0.5
  

4.5±0.8

25+0.4
-1.8

27

R0.
8

40
8 

h7

11
MESSSTELLE PHD (HAUPTDRUCK)
M10x1;  12 MIN TIEF
MEASURING POINT PHD (PRIMARY PRESSURE)
M10x1;  12 MIN DEEP
 
 
 
 
 

12

TYPENSCHILD GETRIEBE; POSITION WAHLWEISE A/B/C
DATEN: GETRIEBETYP,STUECKLISTEN-NR.,SERIAL-NR.,
KUNDEN-BESTELLNR.,UEBERSETZUNGSBEREICH, TACHO-
METERUEBERSETZUNG (IMPULS/UMDREHUNG), OELMENGE,
ZF-SCHMIERSTOFFBEZEICHNUNG
TYPE PLATE GEARBOX; ALTERNATIV POSITION A/B/C
DATA: GEARBOX TYPE,PARTS LIST NO.,SERIAL NO.
CUSTOMER ORDER NO.,RATIO RANGE, SPEEDOMETER RATIO
(PULSE/REV.); OIL QUANTITY, ZF LIST OF LUBRICANTS 
DESIGNATION
 
 
 
 
 
 

13

TYPENSCHILD STEUERGERAET
DATEN: SACHNUMMER, SERIALNUMMER, KUNDEN-BESTELLNUMMER,
BETRIEBSSPANNUNG, E1-NUMMER
TYPE PLATE CONTROL UNIT 
DATA: MATERIAL NO.,SERIAL NO.,CUSTOMER ORDER NO.,
RATED VOLTAGE, E1-NUMBER

14
BOHRUNG FUER PLOMBENDRAHT TACHOANSCHLUSS AN IMPULSGEBER
HOLE FOR LEAD SEAL WIRE SPEEDO CONNECTION TO PULSE SENSOR

20a OELABLASSCHRAUBE SW10 (INNENSECHSKANT) (Ta=50 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 10 (INTERNAL HEXAGON)

20b OELABLASSCHRAUBE SW6 (INNENSECHSKANT) (Ta=35 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 6 (INTERNAL HEXAGON)

21

M8   22 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
BEI 21  GESTATTET
M8   22 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS ONLY ALLOWED 
AT 21

22

M8   19 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
NACH ABSTIMMUNG MIT ZF GESTATTET
M8   19 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS  PERMITTED ONLY 
AFTER CONSULTION WITH ZF
 28 OELEINFUELLROHR
BEFESTIGUNG VON ANBAUTEILEN NUR BEI 21 GESTATTET
OIL FILLER TUBE
FIXING OF ADD-ON PARTS ONLY ALLOWED AT 21
 
 
 
 
 
 
 
 

29 DREHRICHTUNG DES ABTRIEBSFLANSCHES BEI VORWAERTSFAHRT
SENSE OF ROTATION OF OUTPUT FLANGE DRIVING FORWARD

33
AUSBAURAUM FUER OELFILTER
REMOVING SPACE FOR OIL FILTER

35 AUSBAUHOEHE FUER OELWANNE
REMOVING SPACE FOR OIL SUMP

37 ENTLUEFTER
BREATHER

A8
DRUCKMESSSTELLE A8 (WANDLER-GEGENDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT A8 (TORQUE CONVERTER 
BACK PRESSURE)
M10x1;  12 MIN DEEP 

D6
DRUCKMESSSTELLE D6 (NACH RETARDER-OELKUEHLER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D6 (DOWNSTREAM OF RETARDER 
OIL COOLER)
M10x1;  12 MIN DEEP 

D8
DRUCKMESSSTELLE D8 (SCHMIERDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D8 (LUBRICATING PRESSURE)
M10x1;  12 MIN DEEP 
 

OE
OELEINFUELLUNG
OIL FILLING

OM
OELMESSSTAB-FUEHRUNGSROHR
OIL DIPSTICK TUBE

S
SCHWERPUNKT (MIT OEL)
CENTER OF GRAVITY (WITH OIL)

T

GEWINDEBOHRUNG FUER IMPULSGEBER M18x1.5, 
ANZUGSMOMENT 45 NM. FUER TRANSPORT MIT 
VERSCHLUSSSCHRAUBE VERSCHLOSSEN
THREADED BORE FOR PULSE SENSOR M18x1.5, 
TIGHTENING TORQUE 45 NM. FOR TRANSPORT CLOSED 
WITH THREADED PLUG

1

STEUERGERAET
ELEKTRISCHE ANSCHLUESSE NACH SPEZIFIKATION 6070 703 002
ZULAESSIGE UMGEBUNGSLUFTTEMPERATUR: 100°C
ZULAESSIGE OBERFLAECHENTEMPERATUR:105°C
SCHUTZART
         -MIT AUFGESTECKTEM KABEL: IP69K
         -OHNE KABEL: TBD (VOR VERSCHMUTZUNG SCHUETZEN)
CONTROL UNIT
ELECTRICAL TERMINALS ACC. TO SPECIFICATION 6070 703 002
PERMITTED AMBIENT AIR TEMPERATURE: 100°C
PERMITTED SURFACE TEMPERATURE: 105°C
PROTECTION CLASS
         -WITH CABLE PLUGGED IN: IP69K
         -WITHOUT CABLE: TBD (PROTECT AGAINST FOULING)
 
 
 
 
 

2
KABELANSCHLUSS. FUER TRANSPORT MIT SCHUTZKAPPE VERSEHEN
CABLE CONNECTION: FOR TRANSPORT EQUIPPED WITH 
PROTECTIVE COVER
 

3
TRANSPORTAUFHAENGUNG M16x1.5; 24 MIN TIEF
ANZUGSDREHMOMENT 225 Nm MAX
LIFTING GEAR THREAD M16x1.5; 24 MIN DEEP
TIGHTENING TOWQUE 225 Nm MAX

4
GETRIEBEAUFHAENGUNG M16x1.5;  24 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
GEARBOX SUSPENSION M16x1.5;  24 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
 
 
 
 
 
 

5

GETRIEBEAUFHAENGUNG M20x1.5;  25 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
NUR NACH ABSTIMMUNG MIT ZF GESTATTET
GEARBOX SUSPENSION M20x1.5;  25 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
PERMITTED ONLY AFTER CONSULTION WITH ZF
 
 
 
 
 6

KUEHLMITTELANSCHLUSS ZUM OELKUEHLER
STUTZEN DIN 3021 - B 60 
COOLANT CONNECTION TO OIL COOLER
SPIGOT DIN 3012 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

7

KUEHLMITTELANSCHLUSS VOM OELKUEHLER
STUTZEN DIN 3021 - B 60
COOLANT CONNECTION FROM OIL COOLER
SPIGOT DIN 3021 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

8
DRUCKMESSSTELLE PVF (VOR FILTER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT PVF (AHEAD OF FILTER)
M10x1;  12 MIN DEEP 
 zf_einfach_v4

16-04-04 - - - - - - - - -

NUDING - - --- --- --- - - - - -

--- PRO/E

ECOLIFE S PTO
ECOLIFE S PTO --- 1 3

4238.088.002 2:5
AUTOMATGETRIEBE
AUTOMATIC TRANSMISSION 4255_602_002_INS001 A0

GETRIEBE IST MIT OEL BEFUELLT
GEARBOX IS FILLED WITH OIL
 
OELSORTE: ZF ECOFLUID LIFE    OELMENGE: 49 L
OILTYPE: ZF ECOFLUID LIFE     OIL VOLUME: 49 L

Modell vereinfacht dargestellt
Fuer nicht dargestellte Gussaugen und
unbemasste Gewinde behaelt sich die ZF Aenderungen
sowie Entfall ohne Kundenruecksprache vor.
Representation of model simplified.
Not shown mounting pads or undimensioned threads
are subject to change without notice by ZF
or omitted without discussion to customer.

Masse ohne Toleranzangaben oder (...) dienen nur zur Information.
Untoleranced dimensions or (...) are for information only.

Technisches Handbuch 4255 765 001 beachten
Observe technical manual 4255 765 001

S

13
1 2

12/B
21

37

7

3

6
Kuehlmittelzulauf
Coolant flow forward

Kuehlmittelruecklauf
Coolant flow back

S

01

03
03

01

02
02

2345678

M

L

K

J

H

G

F

E

910111213141516

M

L

K

J

H

G

F

E

D

C

B

A

16 15 14 13 12 11 10 9 8 7 456

100

  0

 10

 20

 30

 40

 50

 60

 70

 80

 90

1

abgeleitet von: 4255_602_002_INS001 [ASSEM]

Funkt. Norm Fertig. Verz.

Rohteilnummer

Dat.

Dok.vers.Aend.Nr.

Technische Information

Benennung

Aehnl.Dokum.Nr.

Blatt

Mass-Stab

Bearb. Konstr.
kg

DIN

Materialnummer

Dokumentnummer

Masse

CAD-SystemAend.Datum

Name

von

Name

Dieses Dokument darf weder kopiert
noch dritten Personen ohne unsere
Erlaubnis mitgeteilt werden.
Diese Konstruktion ist unser Eigentum.

ZF Friedrichshafen AG

Sheet

Mass

Doc.vers.Gearing

Casting/forging No.

Technical information

Description

Drawn Design Stand. Prod. Mod.No. Similar docu. no.

Document number

Funct.

ScaleItem number

Mod.date

of

Name

This document may not be copied
or disclosed to third persons
without permission of ZF.
We are the owner of this design.

CAD system

255 0.25

255 0.25

(2
00

)

(
)

56
0

( )184

( )160

9.7°

(
)

10
95

.8

(
)

98
0.

6
(

)
99

8.
8

56
0

0.
2

0

0

23
3±

0.
2

0

( )276.5

60
1.

5
0.

4

20
2.

4
0.

4

0

(
)

10
8.

4

( )275

( )290

(
)

16

M
12

x1
.5

 (1
0x

)

 Y

20

22

7.1+0.7
-0.8

48
2 

h7

48
2

+0
.5

  

50
 e

8

30°

3+0.5
  

4.5±0.8

25+0.4
-1.8

27

R0.
8

40
8 

h7

11
MESSSTELLE PHD (HAUPTDRUCK)
M10x1;  12 MIN TIEF
MEASURING POINT PHD (PRIMARY PRESSURE)
M10x1;  12 MIN DEEP
 
 
 
 
 

12

TYPENSCHILD GETRIEBE; POSITION WAHLWEISE A/B/C
DATEN: GETRIEBETYP,STUECKLISTEN-NR.,SERIAL-NR.,
KUNDEN-BESTELLNR.,UEBERSETZUNGSBEREICH, TACHO-
METERUEBERSETZUNG (IMPULS/UMDREHUNG), OELMENGE,
ZF-SCHMIERSTOFFBEZEICHNUNG
TYPE PLATE GEARBOX; ALTERNATIV POSITION A/B/C
DATA: GEARBOX TYPE,PARTS LIST NO.,SERIAL NO.
CUSTOMER ORDER NO.,RATIO RANGE, SPEEDOMETER RATIO
(PULSE/REV.); OIL QUANTITY, ZF LIST OF LUBRICANTS 
DESIGNATION
 
 
 
 
 
 

13

TYPENSCHILD STEUERGERAET
DATEN: SACHNUMMER, SERIALNUMMER, KUNDEN-BESTELLNUMMER,
BETRIEBSSPANNUNG, E1-NUMMER
TYPE PLATE CONTROL UNIT 
DATA: MATERIAL NO.,SERIAL NO.,CUSTOMER ORDER NO.,
RATED VOLTAGE, E1-NUMBER

14
BOHRUNG FUER PLOMBENDRAHT TACHOANSCHLUSS AN IMPULSGEBER
HOLE FOR LEAD SEAL WIRE SPEEDO CONNECTION TO PULSE SENSOR

20a OELABLASSCHRAUBE SW10 (INNENSECHSKANT) (Ta=50 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 10 (INTERNAL HEXAGON)

20b OELABLASSCHRAUBE SW6 (INNENSECHSKANT) (Ta=35 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 6 (INTERNAL HEXAGON)

21

M8   22 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
BEI 21  GESTATTET
M8   22 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS ONLY ALLOWED 
AT 21

22

M8   19 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
NACH ABSTIMMUNG MIT ZF GESTATTET
M8   19 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS  PERMITTED ONLY 
AFTER CONSULTION WITH ZF
 28 OELEINFUELLROHR
BEFESTIGUNG VON ANBAUTEILEN NUR BEI 21 GESTATTET
OIL FILLER TUBE
FIXING OF ADD-ON PARTS ONLY ALLOWED AT 21
 
 
 
 
 
 
 
 

29 DREHRICHTUNG DES ABTRIEBSFLANSCHES BEI VORWAERTSFAHRT
SENSE OF ROTATION OF OUTPUT FLANGE DRIVING FORWARD

33
AUSBAURAUM FUER OELFILTER
REMOVING SPACE FOR OIL FILTER

35 AUSBAUHOEHE FUER OELWANNE
REMOVING SPACE FOR OIL SUMP

37 ENTLUEFTER
BREATHER

A8
DRUCKMESSSTELLE A8 (WANDLER-GEGENDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT A8 (TORQUE CONVERTER 
BACK PRESSURE)
M10x1;  12 MIN DEEP 

D6
DRUCKMESSSTELLE D6 (NACH RETARDER-OELKUEHLER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D6 (DOWNSTREAM OF RETARDER 
OIL COOLER)
M10x1;  12 MIN DEEP 

D8
DRUCKMESSSTELLE D8 (SCHMIERDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D8 (LUBRICATING PRESSURE)
M10x1;  12 MIN DEEP 
 

OE
OELEINFUELLUNG
OIL FILLING

OM
OELMESSSTAB-FUEHRUNGSROHR
OIL DIPSTICK TUBE

S
SCHWERPUNKT (MIT OEL)
CENTER OF GRAVITY (WITH OIL)

T

GEWINDEBOHRUNG FUER IMPULSGEBER M18x1.5, 
ANZUGSMOMENT 45 NM. FUER TRANSPORT MIT 
VERSCHLUSSSCHRAUBE VERSCHLOSSEN
THREADED BORE FOR PULSE SENSOR M18x1.5, 
TIGHTENING TORQUE 45 NM. FOR TRANSPORT CLOSED 
WITH THREADED PLUG

1

STEUERGERAET
ELEKTRISCHE ANSCHLUESSE NACH SPEZIFIKATION 6070 703 002
ZULAESSIGE UMGEBUNGSLUFTTEMPERATUR: 100°C
ZULAESSIGE OBERFLAECHENTEMPERATUR:105°C
SCHUTZART
         -MIT AUFGESTECKTEM KABEL: IP69K
         -OHNE KABEL: TBD (VOR VERSCHMUTZUNG SCHUETZEN)
CONTROL UNIT
ELECTRICAL TERMINALS ACC. TO SPECIFICATION 6070 703 002
PERMITTED AMBIENT AIR TEMPERATURE: 100°C
PERMITTED SURFACE TEMPERATURE: 105°C
PROTECTION CLASS
         -WITH CABLE PLUGGED IN: IP69K
         -WITHOUT CABLE: TBD (PROTECT AGAINST FOULING)
 
 
 
 
 

2
KABELANSCHLUSS. FUER TRANSPORT MIT SCHUTZKAPPE VERSEHEN
CABLE CONNECTION: FOR TRANSPORT EQUIPPED WITH 
PROTECTIVE COVER
 

3
TRANSPORTAUFHAENGUNG M16x1.5; 24 MIN TIEF
ANZUGSDREHMOMENT 225 Nm MAX
LIFTING GEAR THREAD M16x1.5; 24 MIN DEEP
TIGHTENING TOWQUE 225 Nm MAX

4
GETRIEBEAUFHAENGUNG M16x1.5;  24 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
GEARBOX SUSPENSION M16x1.5;  24 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
 
 
 
 
 
 

5

GETRIEBEAUFHAENGUNG M20x1.5;  25 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
NUR NACH ABSTIMMUNG MIT ZF GESTATTET
GEARBOX SUSPENSION M20x1.5;  25 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
PERMITTED ONLY AFTER CONSULTION WITH ZF
 
 
 
 
 6

KUEHLMITTELANSCHLUSS ZUM OELKUEHLER
STUTZEN DIN 3021 - B 60 
COOLANT CONNECTION TO OIL COOLER
SPIGOT DIN 3012 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

7

KUEHLMITTELANSCHLUSS VOM OELKUEHLER
STUTZEN DIN 3021 - B 60
COOLANT CONNECTION FROM OIL COOLER
SPIGOT DIN 3021 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

8
DRUCKMESSSTELLE PVF (VOR FILTER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT PVF (AHEAD OF FILTER)
M10x1;  12 MIN DEEP 
 zf_einfach_v4

16-04-04 - - - - - - - - -

NUDING - - --- --- --- - - - - -

--- PRO/E

ECOLIFE S PTO
ECOLIFE S PTO --- 1 3

4238.088.002 2:5
AUTOMATGETRIEBE
AUTOMATIC TRANSMISSION 4255_602_002_INS001 A0

GETRIEBE IST MIT OEL BEFUELLT
GEARBOX IS FILLED WITH OIL
 
OELSORTE: ZF ECOFLUID LIFE    OELMENGE: 49 L
OILTYPE: ZF ECOFLUID LIFE     OIL VOLUME: 49 L

Modell vereinfacht dargestellt
Fuer nicht dargestellte Gussaugen und
unbemasste Gewinde behaelt sich die ZF Aenderungen
sowie Entfall ohne Kundenruecksprache vor.
Representation of model simplified.
Not shown mounting pads or undimensioned threads
are subject to change without notice by ZF
or omitted without discussion to customer.

Masse ohne Toleranzangaben oder (...) dienen nur zur Information.
Untoleranced dimensions or (...) are for information only.

Technisches Handbuch 4255 765 001 beachten
Observe technical manual 4255 765 001

S

13
1 2

12/B
21

37

7

3

6
Kuehlmittelzulauf
Coolant flow forward

Kuehlmittelruecklauf
Coolant flow back

S

01

03
03

01

02
02

2345678

M

L

K

J

H

G

F

E

910111213141516

M

L

K

J

H

G

F

E

D

C

B

A

16 15 14 13 12 11 10 9 8 7 456

100

  0

 10

 20

 30

 40

 50

 60

 70

 80

 90

1

abgeleitet von: 4255_602_002_INS001 [ASSEM]

Funkt. Norm Fertig. Verz.

Rohteilnummer

Dat.

Dok.vers.Aend.Nr.

Technische Information

Benennung

Aehnl.Dokum.Nr.

Blatt

Mass-Stab

Bearb. Konstr.
kg

DIN

Materialnummer

Dokumentnummer

Masse

CAD-SystemAend.Datum

Name

von

Name

Dieses Dokument darf weder kopiert
noch dritten Personen ohne unsere
Erlaubnis mitgeteilt werden.
Diese Konstruktion ist unser Eigentum.

ZF Friedrichshafen AG

Sheet

Mass

Doc.vers.Gearing

Casting/forging No.

Technical information

Description

Drawn Design Stand. Prod. Mod.No. Similar docu. no.

Document number

Funct.

ScaleItem number

Mod.date

of

Name

This document may not be copied
or disclosed to third persons
without permission of ZF.
We are the owner of this design.

CAD system

255 0.25

255 0.25

(2
00

)

(
)

56
0

( )184

( )160

9.7°

(
)

10
95

.8

(
)

98
0.

6
(

)
99

8.
8

56
0

0.
2

0

0

23
3±

0.
2

0

( )276.5

60
1.

5
0.

4

20
2.

4
0.

4

0

(
)

10
8.

4

( )275

( )290

(
)

16

M
12

x1
.5

 (1
0x

)

 Y

20

22

7.1+0.7
-0.8

48
2 

h7

48
2

+0
.5

  

50
 e

8

30°

3+0.5
  

4.5±0.8

25+0.4
-1.8

27

R0.
8

40
8 

h7

11
MESSSTELLE PHD (HAUPTDRUCK)
M10x1;  12 MIN TIEF
MEASURING POINT PHD (PRIMARY PRESSURE)
M10x1;  12 MIN DEEP
 
 
 
 
 

12

TYPENSCHILD GETRIEBE; POSITION WAHLWEISE A/B/C
DATEN: GETRIEBETYP,STUECKLISTEN-NR.,SERIAL-NR.,
KUNDEN-BESTELLNR.,UEBERSETZUNGSBEREICH, TACHO-
METERUEBERSETZUNG (IMPULS/UMDREHUNG), OELMENGE,
ZF-SCHMIERSTOFFBEZEICHNUNG
TYPE PLATE GEARBOX; ALTERNATIV POSITION A/B/C
DATA: GEARBOX TYPE,PARTS LIST NO.,SERIAL NO.
CUSTOMER ORDER NO.,RATIO RANGE, SPEEDOMETER RATIO
(PULSE/REV.); OIL QUANTITY, ZF LIST OF LUBRICANTS 
DESIGNATION
 
 
 
 
 
 

13

TYPENSCHILD STEUERGERAET
DATEN: SACHNUMMER, SERIALNUMMER, KUNDEN-BESTELLNUMMER,
BETRIEBSSPANNUNG, E1-NUMMER
TYPE PLATE CONTROL UNIT 
DATA: MATERIAL NO.,SERIAL NO.,CUSTOMER ORDER NO.,
RATED VOLTAGE, E1-NUMBER

14
BOHRUNG FUER PLOMBENDRAHT TACHOANSCHLUSS AN IMPULSGEBER
HOLE FOR LEAD SEAL WIRE SPEEDO CONNECTION TO PULSE SENSOR

20a OELABLASSCHRAUBE SW10 (INNENSECHSKANT) (Ta=50 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 10 (INTERNAL HEXAGON)

20b OELABLASSCHRAUBE SW6 (INNENSECHSKANT) (Ta=35 Nm)
OIL DRAIN PLUG, WIDTH ACROSS FLATS 6 (INTERNAL HEXAGON)

21

M8   22 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
BEI 21  GESTATTET
M8   22 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS ONLY ALLOWED 
AT 21

22

M8   19 MIN TIEF  ANZUGSMOMENT 20 NM
BEFESTIGUNG VON ANBAUTEILEN NUR 
NACH ABSTIMMUNG MIT ZF GESTATTET
M8   19 MIN DEEP  TIGHTENING TORQUE 20 NM
FIXING OF ADD-ON PARTS  PERMITTED ONLY 
AFTER CONSULTION WITH ZF
 28 OELEINFUELLROHR
BEFESTIGUNG VON ANBAUTEILEN NUR BEI 21 GESTATTET
OIL FILLER TUBE
FIXING OF ADD-ON PARTS ONLY ALLOWED AT 21
 
 
 
 
 
 
 
 

29 DREHRICHTUNG DES ABTRIEBSFLANSCHES BEI VORWAERTSFAHRT
SENSE OF ROTATION OF OUTPUT FLANGE DRIVING FORWARD

33
AUSBAURAUM FUER OELFILTER
REMOVING SPACE FOR OIL FILTER

35 AUSBAUHOEHE FUER OELWANNE
REMOVING SPACE FOR OIL SUMP

37 ENTLUEFTER
BREATHER

A8
DRUCKMESSSTELLE A8 (WANDLER-GEGENDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT A8 (TORQUE CONVERTER 
BACK PRESSURE)
M10x1;  12 MIN DEEP 

D6
DRUCKMESSSTELLE D6 (NACH RETARDER-OELKUEHLER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D6 (DOWNSTREAM OF RETARDER 
OIL COOLER)
M10x1;  12 MIN DEEP 

D8
DRUCKMESSSTELLE D8 (SCHMIERDRUCK)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT D8 (LUBRICATING PRESSURE)
M10x1;  12 MIN DEEP 
 

OE
OELEINFUELLUNG
OIL FILLING

OM
OELMESSSTAB-FUEHRUNGSROHR
OIL DIPSTICK TUBE

S
SCHWERPUNKT (MIT OEL)
CENTER OF GRAVITY (WITH OIL)

T

GEWINDEBOHRUNG FUER IMPULSGEBER M18x1.5, 
ANZUGSMOMENT 45 NM. FUER TRANSPORT MIT 
VERSCHLUSSSCHRAUBE VERSCHLOSSEN
THREADED BORE FOR PULSE SENSOR M18x1.5, 
TIGHTENING TORQUE 45 NM. FOR TRANSPORT CLOSED 
WITH THREADED PLUG

1

STEUERGERAET
ELEKTRISCHE ANSCHLUESSE NACH SPEZIFIKATION 6070 703 002
ZULAESSIGE UMGEBUNGSLUFTTEMPERATUR: 100°C
ZULAESSIGE OBERFLAECHENTEMPERATUR:105°C
SCHUTZART
         -MIT AUFGESTECKTEM KABEL: IP69K
         -OHNE KABEL: TBD (VOR VERSCHMUTZUNG SCHUETZEN)
CONTROL UNIT
ELECTRICAL TERMINALS ACC. TO SPECIFICATION 6070 703 002
PERMITTED AMBIENT AIR TEMPERATURE: 100°C
PERMITTED SURFACE TEMPERATURE: 105°C
PROTECTION CLASS
         -WITH CABLE PLUGGED IN: IP69K
         -WITHOUT CABLE: TBD (PROTECT AGAINST FOULING)
 
 
 
 
 

2
KABELANSCHLUSS. FUER TRANSPORT MIT SCHUTZKAPPE VERSEHEN
CABLE CONNECTION: FOR TRANSPORT EQUIPPED WITH 
PROTECTIVE COVER
 

3
TRANSPORTAUFHAENGUNG M16x1.5; 24 MIN TIEF
ANZUGSDREHMOMENT 225 Nm MAX
LIFTING GEAR THREAD M16x1.5; 24 MIN DEEP
TIGHTENING TOWQUE 225 Nm MAX

4
GETRIEBEAUFHAENGUNG M16x1.5;  24 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
GEARBOX SUSPENSION M16x1.5;  24 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
 
 
 
 
 
 

5

GETRIEBEAUFHAENGUNG M20x1.5;  25 MIN TIEF
ANZUGSDREHMOMENT 225Nm MAX
NUR NACH ABSTIMMUNG MIT ZF GESTATTET
GEARBOX SUSPENSION M20x1.5;  25 MIN DEEP
TIGHTENING TORQUE 225 Nm MAX
PERMITTED ONLY AFTER CONSULTION WITH ZF
 
 
 
 
 6

KUEHLMITTELANSCHLUSS ZUM OELKUEHLER
STUTZEN DIN 3021 - B 60 
COOLANT CONNECTION TO OIL COOLER
SPIGOT DIN 3012 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

7

KUEHLMITTELANSCHLUSS VOM OELKUEHLER
STUTZEN DIN 3021 - B 60
COOLANT CONNECTION FROM OIL COOLER
SPIGOT DIN 3021 - B 60
FUER TRANSPORT MIT KUNSTSTOFF-STOPFEN VERSCHLOSSEN
FOR TRANSPORT CLOSED WITH PLASTIC PLUGS

8
DRUCKMESSSTELLE PVF (VOR FILTER)
M10x1;  12 MIN TIEF
PRESSURE MEASURING POINT PVF (AHEAD OF FILTER)
M10x1;  12 MIN DEEP 
 zf_einfach_v4

16-04-04 - - - - - - - - -

NUDING - - --- --- --- - - - - -

--- PRO/E

ECOLIFE S PTO
ECOLIFE S PTO --- 1 3

4238.088.002 2:5
AUTOMATGETRIEBE
AUTOMATIC TRANSMISSION 4255_602_002_INS001 A0

GETRIEBE IST MIT OEL BEFUELLT
GEARBOX IS FILLED WITH OIL
 
OELSORTE: ZF ECOFLUID LIFE    OELMENGE: 49 L
OILTYPE: ZF ECOFLUID LIFE     OIL VOLUME: 49 L

Modell vereinfacht dargestellt
Fuer nicht dargestellte Gussaugen und
unbemasste Gewinde behaelt sich die ZF Aenderungen
sowie Entfall ohne Kundenruecksprache vor.
Representation of model simplified.
Not shown mounting pads or undimensioned threads
are subject to change without notice by ZF
or omitted without discussion to customer.

Masse ohne Toleranzangaben oder (...) dienen nur zur Information.
Untoleranced dimensions or (...) are for information only.

Technisches Handbuch 4255 765 001 beachten
Observe technical manual 4255 765 001

S

13
1 2

12/B
21

37

7

3

6
Kuehlmittelzulauf
Coolant flow forward

Kuehlmittelruecklauf
Coolant flow back

S

01

03
03

01

02
02

SAE 1





 L

ZF EcoLife Offroad 
（可选取力器）

发动机最大
扭矩

最大涡轮扭矩 前
进档 

(倒档/倒档 )
最大缓速器

制动扭矩  
安装长度

（预留取力器接）
重量不含油冷器

无油 
(可选取力器)

扭矩转换

型号 [Nm] [Nm] [Nm] [mm] [kg]

6 AP 2600 EK (EPK) 2,600 3,500 - 1,900 732.2 (762.2) 390 (427) 1.95 ... 2.29

6 AP 2100 EK (EPK) 2,100 3,500 - 1,900 732.2 (762.2) 388 (425) 1.95 ... 2.29

6 AP 1900 EK (EPK) 1,900 3,130 - 1,900 732.2 (762.2) 386 (423) 1.95 ... 2.29

6 AP 1600 EK (EPK) 1,600 2,500 - 1,900 732.2 (762.2) 384 (421) 1.95 ... 2.29







采埃孚（中国）投资有限公司
特种车辆传动系统配套部
电话 : 	 +86(0)21 37617853
传真 :	 +86(0)21-37617599

ZF Friedrichshafen AG
Division Industrial Technology 
Business Unit Marine and Special Driveline Technology
Ehlersstr. 50 
88046 Friedrichshafen
Germany

电话 : 	 +49 7541 77-3246
传真 :	 +49 7541 77-961797
special-transmission@zf.com

进一步了解我们针对
特殊应用的变速箱

www.zf.com/special-transmission

技
术

变
更

恕
不

另
行

通
知

  
20

C
N


